Efficiency vs P,

~ 0.1¢ -

= E : : :

£ 0.09Fwwrrrrnieeee s RRSIREEERRE 3 RREEENEE

> E N N N

210,08+ eerrieeeeeee R % RTINS

o E : : T

o - . . .

2 0.07f - wiooerie ey SR S R

o E : : :
0.0BF- -+ {-+eevieeefoee FRRT SRRTER ERTERE
Y S R s 3 -
0.04F -+|-+-ie- SRR % SRR
0.03F -+ {-eeive oo meseferendfroenenees
0.02F |-+ 10 T RO RPN SR ) SRR
0_01;_ vl

o : :

g [

x

1_—- R b 2 DO T R L R

o
©
a

=
o
iN

1 10 . Gedf’

—— DQM_V0001_R000000001__Global_cmsswQCD__RECO
—— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO
—— DQM_V0001_R000000001__Global__mkFitNewQCD__RECO

c 0.1
2

20.09
2

£0.08
o

£0.07
(]

0.06
0.05
0.04
0.03
0.02
0.01
.0

...............................................

...................

..................

Ratio

[y
n
- o
+
+
+
+
"
+

0.95

Efficiency vs ¢

o 0.7 : - T T T T
Q : : : : : :
O S EE A S
2 : : : : : : :
R S i E S S I
£0.07F------- PR -]
o : ] : : p
0.06fF------- pe B A B S e 1
I
0.0aF ool o [T
Y IR SN N A ——"
TR SN - S 8 O B
0.01F

1.0

Ratio




	Contents
	Page 1


